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? [SHIFT][3][1]
- [SHIFT][3][2]
: [SHIFT][3][3]
A [SHIFT][3][4]
N [SHIFT][3][REPLAY 7#51[1]
_ [SHIFT][3][REPLAY 7#51[2]
+ [SHIFT][3][REPLAY 7#51[3]
> [SHIFT][3][REPLAY 7#i1[4]
> [SHIFT][3][REPLAY 7#51[5]
Goto [SHIFT][3][REPLAY /:1[1]
Lbl [SHIFT][3][REPLAY /:1[2]
A [ALPHA][A]
B [ALPHA][B]
C [ALPHA][C]
D [ALPHA][D]
X [ALPHA][X]
Y [ALPHA][Y]
M [ALPHA][M]
Mem clear [SHIFT][CLR][1]
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% [EXE] & A b Hfi

% [EXE] WA ¢ WfH

% [EXE] #2HE 1 R f(x)=ax’+bx+c (] A i -
EI= 20 2 ax’+bx+c=0 ) A fH

1% [EXE] $REUR K& f(x)=ax’+bx+c IIMEES x A4HE
(f(x) PIRERFEES x fH)

1% [EXE] $RE0R KHH f(x)=ax +bx+c FURREL y At
(f(x) HyAiAE)

1% [EXE] $REUR K f(x)=ax’+bx+c (Hr—(# x # -
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